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First question: Choose the correct answer (In_the bubble sheet) (15 Marks, 1 each)

1. ..........root arise on the aerial shoots to fix the plant on the support.

A. tap B. climbing C. fibrous D. tuberous
2. The plants that live, and complete their life cycle in one year or single growing season are. .. ..,
A. annuals B. perennials C. Biennials D. all
3. The first bud on the shoot is. .............
A. embryo B. seed coat C. storage food D. plumule
4. The plant seeds differ from each other in size and shape but consist of............
A. embryo B. seed coat C. storage food D. all
5. The cells of meristematic tissue are characterized by .................
A. large nuclei B. dense cytoplasm C. thin walls D. all
6. The adventitious roots may arise from..............
A. shoot /B' radicle C. seed D. all
? RN leaf blade is divided into parts, but still attached to each other by blade tissue.
A lobed B. compound C. simple D. semi-compound
8. .............. root is not differentiated into main root, or secondary roots
A. tap B. adventitious C. conical D. fusiform
< G VL BT roots arise on the shoot to absorb water vapor from air.
A. tap B. climbing C. aerial D. fusiform
10. .............. is meristematic region in the shoot surrounded by young leaves
A. bud B. lateral C. main stem D. leaf apex
1 1. Parenchyma is permanent tissue that share in ..............
A. food storage B. gas-exchange C. photosynthesis D. all
12. .......... stems are found under the soil surface to carry out many functions such as food storage
. A. Subterranean B. Bulb C. Corm D. all
13. The main role of sclerenchyma tissue is providing ........ccooves
A. support B. protection C. strength Hoa
14 is the branching of the conducting system (mid-rib) in the blade.
A. leaf venation B. leaf blade C. leaf arrangement o S
IS. ... stems are stems that can not be differentiated into nodes and internodes
C. Hollow D. Glabrous

B. Long

A. Dwarf
(page 1 of 2, Complete backwards)




Second question: Mark the letter (T) for true sentences and the letter (F) for false sentences.

In your bubble sheet (20 Marks, 1 each)
The tap roots always develop from the seed embryo.

2- Intercalary meristems are parallel to the plant long axis to increase the plant thickness, .

3- Stem branching is called sympodial due to the active growing apical bud.

4- The adventitious roots are tuberous when the main root enlarged to store food.

5- Rhizome is underground stem that divided into nodes and internodes.

6- Herbaceous stems are erect green while woody stems are brown and hard that contain many
mechanical tissues

7- The leaf blade is compound trifoliate when composed of only 3 leaflets

8- Thread-like roots with same length and arise form nodes are fibrous adventitious.

9-

The running stems are prostrate stems that don’t give adventitious roots from the nodes.

10- Vegetative buds always develop into branches carrying leaves and flowers.

11-Climbing stem is modified to climb on the support by producing tendrils for the climbing
12- Winter buds are covered by protective scale leaves, hairs or waxes,

13- Twinning weak stems grow on the soil surface horizontally and crawl along the soil.

14- Some stems are modified to apply some functions including storage, photosynthesis and
climbing.

15- Spiny stéms are modified lateral stems to spines for protection and arise from leaf axils,

16- The leaf base is the part of the leaf that connect it to the stem.

17- Parenchyma and collenchyma are simple plant tissues and have non-living cells.

18- The leaf arrangement is radicle when two opposite leaves arise at each node along the stem.

19- The stem is called leafy when became broad green and contains many chloroplasts.

20-The leaf veins are parallel to each other in monocot leaves with uninerved leaf venation,
Thir estion:
A- Write the scientific term for each of the following:- (5 Marks, 1 each)

The type of leaf blade that is divided into number of leaflets attached by the mid-rib, (
Swollen underground stems for storage not divided into nodes and internodes l_mb%
Buds that develop from any other part other shoot apex or leaf axils

The modification of leaves forming the flower whorls for reproduction

Leaves with no petiole and the blade attach directly to the stem.
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Best wishes

Examiner: Dr/ Gehad Abd-Allah Ragab
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tion (A) P cal part marks

Choose the correct answer: (1 mark for each)
tion of valence electrons ?

1. Which of the following statements is the best tleﬁni.

a.  The electrons in the P orbitals.
b.  The electrons that are paired.
~7  The electrons occupying the highest energy ( outermost) level.

d.  The electrons those are unpaired.
2. How many moles are in 3 g of carbon?
a. 0.5 mole b) 4 mole ¢) 0.25 mole d) 2 mole
3. How many electrons are in ,**Ti* 2
a I8 b) 22 c) 26 d) 70
4. Which of the following elements is a metal ?
a Co b) Ar c)l d)C
5. What is the percent composition of phosphorus in Cay(PO,), ?
a 20% b)11% ©)22% d) 36 %

6. A compound is composed of 40.92 % carbon, 4.58 % hydrogen and 54.5 % oxygen by mass.
Determine the empirical formula of this compound ?

a. CHO b) C;H,0, ¢) CG;H 0, d) C,HO,

7. After balancing the following chemical equation:
aLl.C+bH;0-icLlOH+§ClL

\
The sum of a, b, ¢ and d (a+ btetd) is :
a 10 b) 6 c)8 d)s5

8. How many grams of water is produced by burning 23 g of C,
following equation: 2 C;H;OH + 6 O, - 4 CO, + 6H,0

H,OH according to the

a. 9g b)27g c)l8g d)215g
9. Which three elements have similar chemical properties? )
a) N, O, Ne b) Na, Mg, Al ¢) Ca, Sr, Ba d) Ni, Cu, Zn

X
10.An example of monoatomic ion.

a)NO;"! b) 0 ¢) 0 d) s0,*




»
re there in 5.4 g of sodium * d) 1.501 x 107

10* atoms
b) 3.011 x 107 atoms  ©) 1.41x

11.How many atoms &
a) 6.023 x 10™ atoms
atoms he following
to the follow
12.The reaction of 10 g CaO with 10 g of CO, produced CaCO; according
equation: CaO + CO, = CaCO;y

The limiting reagent is:
a. CaO b) CO, ¢) CaO and CO; d) CaCO;

13.Electron affinity is the energy liberated when an atom forms

a)Negative ion b) Posiotiveion  ¢) Molecule  d) Covelent bond
14.No two electrons in the same atom can have the same quantum
numbers is a statement of:

a. The pauli exclusion principle b) Wavelength
c) Wave d) Frequency

15. A 0.401 g of gaseous compound occupies 256 mL at 373 K and750
torr. The molar mass of this compound is:

a.48.6 gmol F)97.1 g/mol
c) 145.7 g/mol d) 194.2 g/mol
16. Which one of the followj oms is p-block element?
a)Fe b) Ce @ d) Na

17.1f the volume of N; gas is 10 L at 800 torr. What will be its volume at
500 torr. If the temperature is kept constant?
s SL ) b)8L

¢)20L d)16 L

18. Which of the following could be an empirijcal formula?
a. CgH; b) CsHjo ¢) CiHjo d) C,;H;

19. The process in which one or more substances are changed into
one or more new substances is called:

a) dilution b) mole
¢) chemical symbols d) chemical reaction
20.Calculate the energy of a photon with =650 nm.
a) 3.06 x 10 b) 1.2x 10™")
¢)3.06x10") d)3.06x10%)




Section (B) Organic Chemistry:

Answer the following questions:
(6 Marks)

1] Differentiate between each of the followings:

| Addition of HBr on propene in the presence and in the absence of H202,
5. Addition of water in acid medium on acetylene and isobutylene.

3. Ozonylsis of 1-butene and 2-butene in acid medium.
3] Complete the following equations, write the name of the products:- (9 Marks)

NaOH KOH
1- (A) «————— CH;-CHBr-CHy » (B)
H,0 Ethanol
2 = cxcoons | -S0ECI0 ) Ch ®)
fusion Sun light

3 cHcHCs Mg L ) 2 4 5.4 ()

C

4 (A)
500-600 "C ccl,

3| Discuss the followings by chemical equations: (5 Marks)
a. Cannizzaro reaction of formaldehyde.

b. Industrial source of acetylene.
¢. ~Williamson synthesis of ethyl methyl ether from methanol.

Good Luck

Examiner:Prof Dr. Hosny Eldaly & Dr.Samah Shendy
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Answer the following questions:
First question:
lx Find the relation between the linear velocity V and the angular velocity o of a particle having a
uniform circular motion. (6 marks)
3. Define and state the equation of: [4 marks]
ay Poisson's ratio. b~ Shear modulus. ¢~ Bulk modulus.  d-Young’s modulus.
Second question:
|- An airplane flies 20 Km in the direction 60° north, How far and in what direction is the plane from
the starting point O. (5 marks)
Y (noith)
C 10km
B 30 kin .
A 20 km R
M'
x X (east)
o
5. If the time of oscillation ¢ of a small drop of liquid under surface tension depends on the density p, the
radius r and surface tension . prove dimensionally that t = ?. (5 marks]
Third question:
/} Explain Searl’s method for good conductors. [6 marks]
ﬁ- Prove that: PV = NKT [6 marks]

Fourth question:

X- Find the relation between the linear expansion coefficient and the volume expansion coefficient.
[6 marks]

2- Define and state the equation: the specific heat and the latent heat. [2 marks]

- Good luck
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1) Risan programming language?
a) Closed source b) Open source
¢) GPL d) Definite source
2) Which function is used to create the vector with more than one element?
a) Library() b) plot()
¢) () d) par()
3) Which of the following finds the maximum value in the vector X, exclude missing values?
a) rm(x) b) all(x)
¢) max(x, na.-m=TRUE) d) x%in%y
4) R is technically much closer to the Scheme language than it is to the original language.
a) B b) S
¢) C d) C++
5) R comes with a to help you optimize your code and improve its performance.
a) Debugger b) Monitor
¢) Profiler d) None of the above
6) A matrix is ___dimensionsinal rectangular data set?
a) 5 b) 4
¢) 3 d) 2
7) Data frames can be converted to a matrix by callmg data.
a) matr() b) mat()
¢) ~ matrix( ) d) None of the above
8) Which of the following is used for Statistical analysis in R language?
a) Studio b) RStudio
¢) Heck . d)
9) Functions are defined using the directive and are stored as R objects
a) function() b) funct()
¢) functions() d) All of the mentioned

10) The following command can be used to print an object “x” in R?
a) printf(x) b) print(x)
c) printx d) cout(x)




I1) What would be the output of the following code?

>x=1:4

>y=16:19

>z=x+y

>z
a) 17192123 b) 79111314
¢) 91113 d) Null

12) What would be the output of the following code?

>x=1:4

>x>3
a) FALSE FALSE FALSE TRUE b) 1234
¢) 12345 d)

13) Which of the following extracts first element from the following R vector?
xX= c(li.“’ “‘b“‘ “c", "c“’ "d", 'l..“)
a) x[10] by x[1]
¢) x[0] d) x[2]

14) Which of the following extracts first four elements from the following R vector?
X = q“.“’ llbll’ l'c“, llcli, “d“’ 'l.'l‘)
a) x[0:4] b) x[1:4]
¢) x[0:3] d) x[4:3]

15) What will be the output of the following R code?
x= d“’", "h“‘, "cl!' "cl‘l, "dll, ﬂ"ll}

x[e(1, 3, 4)]
8) “va‘” l&'bﬂ' (lc‘l'! b) 1.!8!'.‘ “c” l.lc‘“
. S paa - iller - d) ‘" """
16) What will be the output of the following R code?
x = matrix(1:6, 2, 3)
x[1,2]
a) 3 b) 2
¢ |1 d 0

17) Which of the following R code extracts the second column for the following matrix?
x = matrix(1:6, 2, 3)

a) x[2,] b) x[1,2]
) x[,2) d) x[112)
18) The in R is a vector.
a) Basic data structure b) Advance data structure
¢) Basic data types d) None of the Above
19) In R Language every operation has a call?
a) System b) Function
' ¢) Debug Call d) None of the Above
20) What is the output of the following R code? |
X=0:10
X[2]
a) 0
b
) 2 &




21) Which of the describe R Language best

a) Free
¢) Available for free trial only

22) How one can define ‘infinity” in R Language?
a) Inf
¢) Und

23) How can one define ‘undefined value’ in R Language?
a) Inf
¢) Und

24)
a) :

c) -
25) A key property of vectors in R language is that

a) A vector cannot have attributes like
dimensions

¢) Elements of a vector can only be a
character or numeric

c) Windows

a) 2
c) 16

32) The mode of the observation 3, 6,7,6,5,7,1,1
a) 5,7
¢) 1,567

operator is used to create integer sequences.

b)
d)

b)

b)
d)

Paid
Testing

Sup
NaN

Sup
NaN

Elements of a vector can be of
different classes

Elements of a vector all must be of the
same class

26) What is the class of the object defined by the expression x <- ¢(4, “a”, TRUE)?

a) Numeric b) Character
¢) Integer d) Logical
27) is function in R to get number of observation in a data frame
a) n() b) ncol( )
¢) nobs() d) nrow()
28) is function in R to get number of columns in a data frame
a) n() b) ncol()
¢) nobs() d) nrow()
29) is function in R to get dimension of data frame
' a) n() b) ncol()
¢) dim() d) nrow()
'30) R Runs on the operating system ;
) a) Linux b) Ubuntu

d) Any Operating System

31) The standard deviation of the observation 11,13,17,1 8, and 21 equals

b) 4
d) 64

b) Zero
d) No mode




33)if you have two numbers in the middle you should

a) add them together and divide by two
¢) find the number in between the two

b) find the mean of the two numbers

: # all of these
34) The standard deviation of the data 2, 3-1, 5, 4,-7
a) 44271 - Al b) -4.43
¢) 4951 d) -3.217
35) In the following data 2, 3.-1, 5, 2, 3.-1 we have
a) One Mode b) No Mode
¢) Three Mode

d) None of the above

36) In the following data 13, 11, 12,794,212

- 7 ¢ MEERNET O

38)

39)

40)

a) Mean=8.75 mode=12 median=10 b) Mean =7.75 no mode
¢) Mean =9.75 mode= 13 median=11

is function in LATEX to set title of the document
_a) \title{ }

b) \section{}
¢) \author{} d) ‘equation{ }
is function in LATEX to set the author name of the document
a) \name{} b) \section{ }
¢) \author{ } d) \equation{}
is function in LATEX to create a new section in the document
a) \title{ } b)  \section{ }
¢) \author{ } d) ‘equation{ }

is function in LATEX to create a new table in the document

a) \title{ } b) \begin{ equation } \end{equation}
¢) \begin{table} \end{table) d) \equation{}

median=9




